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S~ç†ÿ F¯ÿó ¯ÿçjæœÿ

  MATHEMATICS & SCIENCE

91. {SæsçF ÓóQ¿æLëÿ {ÓÜÿç ÓóQ¿æ{Àÿ 17 $Àÿ {¾æSLÿ{àÿ {¾æSüÿÁÿ 162 ÜëÿF > {†ÿ{¯ÿ ÓóQ¿æsç {Lÿ{†ÿ ?

(A) 7 (B) 8

(C) 9 (D) 10

The number which when added to itself 17 times gives 162. What is the number ?

(A) 7 (B) 8

(C) 9 (D) 10

92. 30 Àëÿ 60 þš¯ÿˆÿöê {¾òSçLÿ ÓóQ¿æþæœÿZÿÀÿ ÓóQ¿æ H {þòÁÿçLÿ ÓóQ¿æþæœÿZÿÀÿ ÓóQ¿æ A{¨äæ {Lÿ{†ÿ {¯ÿÉê ?

(A) 15 (B) 16

(C) 17 (D) 18

What is the difference in number of compound and prime numbers between 30 and 60 ?

(A) 15 (B) 16

(C) 17 (D) 18

93. 6x3 – 2x + 3 = (2x + 5) (3x2 – 2x + 3) ÓþêLÿÀÿ~sçÀÿ Wæ†ÿ {Lÿ{†ÿ ?

(A) 1 (B) 2

(C) 3 (D) 5

What is the degree of the equation 6x3 – 2x + 3 = (2x + 5) (3x2 – 2x + 3) ?

(A) 1 (B) 2

(C) 3 (D) 5

94. 5x – 12 = 8 Àÿ {Lÿ{†ÿæsç þíÁÿ Adç ?

(A) 1 (B) 2

(C) 4 (D) 0

How many roots has 5x – 12 = 8 ?

(A) 1 (B) 2

(C) 4 (D) 0
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95. 4 + 3x + 2x2 + x3 Àëÿ – x3 + 2x2 + 3x + 4 ¯ÿç{ßæS Lÿ{àÿ ¯ÿç{ßæS üÿÁÿ {Lÿ{†ÿ {Üÿ¯ÿ ?

(A) 6x (B) 4x2

(C) 2x3 (D) –2x2

What is the value when – x3 + 2x2 + 3x + 4 is subtracted from 4 + 3x + 2x2 + x3 ?

(A) 6x (B) 4x2

(C) 2x3 (D) –2x2

96. a4 81
625

=  {Üÿ{àÿ ‘a’ Àÿ þæœÿ {Lÿ{†ÿ ?

(A) ±
3
5

(B)
3
5

(C) −
3
5

(D) 5

If a
4 81

625
= , then what in the value of ‘a’ ?

(A) ±
3
5

(B)
3
5

(C) −
3
5

(D) 5

97. ‘x’ Àÿ Së~œÿæþ#Lÿ ¯ÿç{àÿæþçÀÿ {¾æSæþ#Lÿ ¯ÿç{àÿæþç {Lÿ{†ÿ ?

(A) –x (B)
1
x

(C) 1 (D) −
1
x

What is the additive inverse of the multiplicative inverse of x ?

(A) –x (B)
1
x

(C) 1 (D) −
1
x

98. 50 30 10 8 5 2 1− ÷ + − + −d i  Lëÿ ÓÀÿÁÿ Lÿàÿæ{¯ÿ{Áÿ {LÿDôsç ’ÿḉ†ÿêß {Óæ¨æœÿ A{s ?

(A) 30 ÷ 10 (B) 3 + 8

(C) 5 + 1 (D) 50 – 5
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What is the 2nd step of simplication of 

50 30 10 8 5 2 1− ÷ + − + −d i

.

(A) 30 ÷ 10 (B) 3 + 8

(C) 5 + 1 (D) 50 – 5

99. µÿæf¿ = µÿæfLÿ × µÿæSüÿÁÿ + µÿæS{ÉÌ, FBsçLëÿ {LÿDô ¨•†ÿç LëÿÜÿæ¾æF ?

(A) {œÿ¨çÀÿêß ¨•†ÿç (B) AFàÿÀúÿ ̈ •†ÿç

(C) BDLÿâçxÿêß ¨•†ÿç (D) Àÿæþæœëÿfœúÿ ¨•†ÿç

Divisor = Dividend × Quotient + Reminder, which method is it called ?

(A) Napier’s Method (B) Euler Method

(C) Euclidean Method (D) Ramanujan Method

100. {SæsçF ’ÿ÷¯ÿ¿Àÿ àÿçQç†ÿ þíàÿ¿ D¨{Àÿ 

33
1
3

%

 ÀÿçÜÿæ†ÿç {’ÿàÿæ¨{Àÿ ̄ ÿçLÿ÷çþíàÿ¿ 96 sZÿæ ÜëÿF > ’ÿ÷¯ÿ¿sçÀÿ àÿçQç†ÿ þíàÿ¿

{Lÿ{†ÿ sZÿæ ?

(A) 133 (B) 144

(C) 117 (D) F$#Àëÿ {Lÿò~Óçsç œëÿ{Üÿô

After giving 33
1
3

%  of discount on the marked price, the selling price becomes Rs. 96.

What is the marked price of the article ?

(A) 133 (B) 144

(C) 117 (D) None of these

101. Àÿæþ 3 sZÿæ{Àÿ 7sç {àÿºë H {Sæ¨æÁÿ 41 sç {àÿºëLëÿ 19 sZÿæ{Àÿ Lÿç~ç{àÿ, œÿçþ§àÿçQç†ÿ DNÿçSëxÿçLÿ þšÀëÿ {LÿDôsç

¨÷¾ëf¿ ?

(A) Àÿæþ ÉÖæ{Àÿ Lÿç~çàÿæ (B) {Sæ¨æÁÿ ÉÖæ{Àÿ Lÿç~çàÿæ

(C) Dµÿß Óþæœÿ ’ÿÀÿ{Àÿ Lÿç~ç{àÿ (D) F$# þšÀëÿ {Lÿò~Óçsç œëÿ{Üÿô

Ram bought 7 lemon in Rs. 3 and Gopal 41 lemons in Rs. 19, which of the following state-

ment is true ?

(A) Rama bought in cheaf rate (B) Gopal bought in cheaf rate

(C) Both purchased at the same rate (D) None of these
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102. ¾’ÿç 3A = 5B F¯ÿó 4B = 6C ÜëÿF > {†ÿ{¯ÿ A : C = {Lÿ{†ÿ ?

(A) 5 : 2 (B) 3 : 5

(C) 2 : 5 (D) 4 : 5

If 3A = 5B and 4B = 6C, then A : C is ?

(A) 5 : 2 (B) 3 : 5

(C) 2 : 5 (D) 4 : 5

103. ’ÿˆÿ `ÿç†ÿ÷{Àÿ EC || AB, m ECD o
= 70  F¯ÿó m BDO o

= 20  {†ÿ{¯ÿ m OBD =  {Lÿ{†ÿ ?

(A) 20o (B) 50o

(C) 60o (D) 70o

In the given figure, if EC || AB, m ECD o
= 70  and m BDO o

= 20 , then m OBD =  ?

(A) 20o (B) 50o

(C) 60o (D) 70o
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104. {SæsçF †ÿ÷çµëÿf ¯ÿÜÿç…×{Lÿæ~ ÓóQ¿æ {Lÿ{†ÿ :

(A) 3 (B) 4

(C) 5 (D) 6

The number of Exterior angle of a triangle is :

(A) 3 (B) 4

(C) 5 (D) 6

105. ’ëÿBsç ¯ÿæ †ÿÜÿçôÀëÿ A™#Lÿ †ÿ÷çµíÿfÀÿ µíÿþçþæ{œÿ FLÿ ÓÀÿÁÿ {ÀÿQæ{Àÿ ÀÿÜÿç{àÿ F¯ÿó {ÓþæœÿZÿÀÿ ÉêÌö ¯ÿç¢ëÿ AµÿçŸ {Üÿ{àÿ,

†ÿ÷çµëÿfSëÝçLÿ :

(A) Óþµíÿþç ̄ ÿçÉçÎ {Üÿ{¯ÿ (B) Óþ{ä†ÿ÷ ¯ÿçÉçÎ {Üÿ{¯ÿ

(C) Óþ Daÿ†ÿæ ¯ÿçÉçÎ {Üÿ{¯ÿ (D) Óþ þšþæ ¯ÿçÉçÎ {Üÿ{¯ÿ

When the bases of two or more than two triangles lie in a straight line and their vertex is

one, then the triangles are :

(A) With same base (B) With same area

(C) With same height (D) With same median

106. ’ëÿBsç ÓŸçÜÿç†ÿ {Lÿæ~Àÿ {Lÿ{†ÿæsç Óæ™æÀÿ~ ¯ÿæÜëÿ $æF ?

(A) 1 (B) 2

(C) 3 (D) Aæ{’ÿò œÿ$æF

How many common sides of two adjacent angle ?

(A) 1 (B) 2

(C) 3 (D) None of these

107. {SæsçF ¯õÿˆÿÀÿ f¿æ H †ÿæ'Àÿ Óó¨õNÿ `ÿæ¨ ’ÿ´æÀÿæ Svÿç†ÿ `ÿç†ÿ÷Lëÿ Lÿ'~ LëÿÜÿæ¾æF ?

(A) ȭÿˆÿLÿÁÿæ (B) ȭÿˆÿQƒ

(C) ȭÿˆÿÀÿ ̈ Àÿç™# (D) A•ȫ õÿˆÿ

What is the shape formed by the chord and its arc of a circle ?

(A) Sector (B) Segment

(C) Circumference of the circle (D) Half circle
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108. ABCD s÷æ ç̈fçßþú{Àÿ ¾’ÿç AB || CD ÜëÿF, {†ÿ{¯ÿ AC2 + BD2 = ?

(A) BC2 + AD2 + 2BC . AD (B) AB2 + CD2 + 2AB . CD

(C) AB2 + CD2 + 2AD . BC (D) BC2 + AD2 + 2AB . CD

In a trapezium if AB || CD, then AC2 + BD2 = ?

(A) BC2 + AD2 + 2BC . AD (B) AB2 + CD2 + 2AB . CD

(C) AB2 + CD2 + 2AD . BC (D) BC2 + AD2 + 2AB . CD

109. ¨æosç AÓþæ;ÿÀÿ ÓÀÿÁÿ{ÀÿQæ ¨ÀÿØÀÿLëÿ Ó¯ÿöæ™#Lÿ {Lÿ{†ÿæsç ¯ÿç¢ëÿ{Àÿ {d’ÿ LÿÀÿç ¨æÀÿç{¯ÿ ?

(A) 1 (B) 4 (C) 5 (D) 10

The maximum number of points in which five non parallel lineed will intersect each

other ?

(A) 1 (B) 4 (C) 5 (D) 10

110. œÿçþ§àÿçQç†ÿ `ÿç†ÿ÷SëÝçLÿ þšÀëÿ {LÿDôsçÀÿ ÷̈†ÿçÓþ Aä œÿæÜÿ] ?

(A) ¯ÿçÌþ¯ÿæÜëÿ †ÿ÷çµíÿf (B) Aæß†ÿ `ÿç†ÿ÷

(C) Óæþ;ÿÀÿçLÿ ̀ ÿç†ÿ÷ (D) ȭÿˆÿ

From the following figure, which have no symetrical axis ?

(A) ScaleneTriangles (B) Rectangles

(C) Parallelogram (D) Circle

111. œÿç{þ§æNÿ þšÀëÿ {LÿDôsç S~ç†ÿ ¨ævÿ¿¨ëÖLÿ ¨÷Öë†ÿç œÿê†ÿç D¨{Àÿ Aæ™æÀÿç†ÿ œëÿ{Üÿô ?

(A) ¯ÿç’ÿ¿æ$öê {Lÿð¢ÿ÷çLÿ (B) œÿþœÿêß H {’ÿðœÿ¢ÿçœÿ fê¯ÿœÿ Ó¸Lÿ}†ÿ

(C) Aœÿ¿æœÿ¿ ¨ævÿ¿ ¯ÿçÌß ÓÜÿ Óþœÿ´ß (D) Aœÿþœÿêß ¨ævÿ¿ ¯ÿÖë

Which one of the following is not associated with the principles of preparing mathematics

text books ?

(A) Learner centred

(B) Flexible and related to day-to-day life

(C) Correlation with other curricular subjects

(D) Inflexible contents
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112. ""FLÿ ¨Àÿêä~ {¾Dô D{”É¿{Àÿ ¨÷Öë†ÿ {ÜÿæB$æF, †ÿæÜÿæ {ÓÜÿç D{”É¿ ¨Àÿçþæ¨ Lÿ{Àÿ >'' FÜÿæ ¨Àÿêä~Àÿ

{LÿDô Së~Lëÿ Óë̀ ÿæB $æF ?

(A) D¨{¾æSç†ÿæ (B) ¯ÿÖëœÿçÏ†ÿæ

(C) ¯ÿçÉ´Óœÿçß†ÿæ (D) {¯ÿð™†ÿæ

“A test measures that it intends to measure.” Which quality of the Test does it indicate ?

(A) Usability (B) Objectivity

(C) Reliability (D) Validity

113. ÷̈æ$þçLÿ ̄ ÿç’ÿ¿æÁÿß{Àÿ S~ç†ÿ Éçäæ’ÿæœÿÀÿ ̈ ÷æÀÿ»çLÿ A¯ÿ×æ{Àÿ Éçäæ$öêÀÿ {LÿDô ’ÿä†ÿæ D¨{Àÿ SëÀëÿ†ÿ́ {’ÿ¯ÿæ Aæ¯ÿÉ¿Lÿ ?

(A) ÓóQ¿æ ¨Àÿç̀ ÿç†ÿç H S~œÿ (B) ÓóQ¿æ Së~œÿ H µÿæSLÿ÷çßæ

(C) Sæ~ç†ÿçLÿ Óó{Lÿ†ÿÀÿ ¨÷{ßæS (D) Daÿ†ÿæ H HfœÿÀÿ ¨Àÿçþæ¨

Priority is to be given on which ability during the initial stages of teaching Mathematics in

the primary schools ?

(A) Number indentification and counting (B) Multiplication and Division of numbers

(C) Application of Mathematical symbols (D) Measurement of height and weight

114. œÿç{þ§æNÿ þšÀëÿ {LÿDôsç Ó{¯ÿöæLõÿÎ Sæ~ç†ÿçLÿ ’ÿä†ÿæÀÿ Óí`ÿLÿ ?

(A) Sæ~ç†ÿçLÿ àÿçQœÿ

(B) Sæ~ç†ÿçLÿ ÓþÓ¿æÀÿ ̄ ÿç{ÉÈÌ~

(C) Sæ~ç†ÿçLÿ µÿæÌæLëÿ Óæ{Zÿ†ÿçLÿ µÿæÌæ{Àÿ Àíÿ¨æ;ÿÀÿ~

(D) Sæ~ç†ÿçLÿ Óþæ™æœÿ ÷̈Lÿ÷çßæ{Àÿ †ÿ÷ësç œÿç‚ÿöß H Óó{Éæ™œÿ

Which one of the following is the indicator of the top-most mathematical ability ?

(A) Writing mathematical definitions

(B) Analysing mathematical problems

(C) Translation of mathematical language into symbolic representation

(D) Identifying errors in mathematical solutions and incorporating corrections
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115. A;ÿœÿ}Üÿç†ÿ ÓóÀÿ`ÿœÿæ ’õÿÎç {Lÿæ~Àëÿ {LÿDôsç S~ç†ÿ Éçäæ’ÿæœÿÀÿ {¯ÿðÉçÎ¿ ?

(A) Éõ\ÿÁÿç†ÿ ¨÷LÿæÉ µÿèÿê

(B) ¯ÿçÌß¯ÿÖëÀÿ Éõ\ÿÁÿç†ÿ H Lÿ÷þæœëÿÓæÀÿ ÓgêLÿÀÿ~

(C) ¯ÿçÌß¯ÿÖëSëÝçLÿÀÿ ̈ æÀÿØÀÿçLÿ Ó¸Lÿö

(D) D¨{ÀÿæNÿ ÓþÖ

Which characteristic indicates the organisation of Mathematics curriculum ?

(A) Systematic Presentation

(B) Systematic and sequential arrangement of contents

(C) Inter-relation of topics

(D) All of the above

116. f{~ dæ†ÿ÷ D–ÿö Lÿ÷þ{Àÿ ÓóQ¿æSëÝçLëÿ ÓfæB {àÿQç ¨æÀëÿdç > FÜÿæ ¯ÿç’ÿ¿æ$öêÀÿ {LÿDô ’ÿä†ÿæLëÿ Óí`ÿæDdç ?

(A) ¯ÿÝ H Óæœÿ ÓóQ¿æ `ÿçÜÿ§ç̈ æÀëÿdç (B) ¯ÿÝ H Óæœÿ ÓóQ¿æ ¨õ$Lúÿ LÿÀÿç¨æÀëÿdç

(C) ¯ÿÝ H Óæœÿ ÓóQ¿æÀÿ Lÿ÷þ ¯ëÿlç¨æÀëÿdç (D) ¯ÿÝ H Óæœÿ ÓóQ¿æ {àÿQç¨æÀëÿdç

A learner arranges the numbers in ascending order. Which ability of the learner is indi-

cated by it ?

(A) Identifies big and small numbers

(B) Distinguishes big and small numbers

(C) Understands the sequence of big and small numbers

(D) Writes big and small numbers

117. f{~ dæ†ÿ÷ µÿçŸ µÿçŸ AæLÿæÀÿ{Àÿ µÿçŸ µÿçŸ ¯õÿˆÿ AZÿœÿ LÿÀÿç {’ÿQç{àÿ {¾, ¨÷{†ÿ¿Lÿ ¯õÿˆÿÀÿ ¯ÿ¿æÓ {Lÿ¢ÿ÷ ¯ÿç¢ëÿLëÿ ØÉö

LÿÀëÿdç F¯ÿó ¯õÿˆÿÀÿ ¯ÿ¿æÓ ¯ÿ¿æÓæ•öÀÿ ’ëÿBSë~ > FÜÿæ S~ç†ÿÀÿ {LÿDô ¨•†ÿçLëÿ Óí`ÿæDdç ?

(A) Aæ{ÀÿæÜÿ (B) A¯ÿ{ÀÿæÜÿ

(C) ¯ÿç{ÉÈÌ~ (D) Óó{ÉÈÌ~

While drawing different circles of different size, a student observed that the diameter touches

the centre and the diameter of the circle is twice its radius. Which methods of teaching

mathematics does it indicate ?

(A) Inductive (B) Deductive

(C) Analysis (D) Synthesis
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118. Daÿ{É÷~ê{Àÿ f¿æþç†ÿçLÿ ¾ëNÿçþíÁÿLÿ ¨÷þæ~ œÿçþ{;ÿ {LÿDô ¨•†ÿç D¨{¾æS LÿÀÿæ¾æBdç ?

(A) Aæ{ÀÿæÜÿ (B) A¯ÿ{ÀÿæÜÿ

(C) ¯ÿç{ÉÈÌ~ (D) ÓþÓ¿æ Óþæ™æœÿ

Which methods of mathematics is follows in solving geometrical logical problems :

(A) Inductive (B) Deductive

(C) Analysis (D) Problem solving

119. œÿç{þ§æNÿ þšÀëÿ {LÿDôsç Aæ{ÀÿæÜÿ ¨•†ÿçÀÿ †ÿ÷ësç A{s ?

(A) ÓþÖ Sæ~ç†ÿçLÿ Óþæ™æœÿ ¨æBô Aœëÿ¨¾ëNÿ (B) Óþß Óæ{¨ä ¨•†ÿç

(C) µÿ÷þæþ#Lÿ Óç•æ;ÿ Ó»æ¯ÿœÿæ (D) D¨{ÀÿæNÿ ÓþÖ

Which of the following is a disadvantages of Inductive method ?

(A) Not useful to solve all mathematical problems

(B) Time consuming method

(C) Possibility in error in findings

(D) All of the above

120. S{~É ¨ífæ ¨æÁÿœÿ œÿçþ{;ÿ ÉçäLÿ dæ†ÿ÷þæœÿZÿ ¨æBô {Lÿ{†ÿLÿ ¨÷LÿÅÿ Lÿæ¾ö¿ ™æ¾ö¿ Lÿ{àÿ > œÿç{þ§æNÿ þšÀëÿ {LÿDôsç

¨÷LÿÅÿ Lÿæ¾ö¿ Ó¸Lÿçö†ÿ œëÿ{Üÿô ?

(A) Óæf Ógæ LÿÀÿç¯ÿæ (B) `ÿæ¢ÿæ Aæ’ÿæß LÿÀÿç¯ÿæ

(C) í̈fæ ÓæþS÷ê Lÿç~ç̄ ÿæ (D) S{~É ¨ífæ ¯ÿçÌß{Àÿ Àÿ`ÿœÿæ {àÿQç¯ÿæ

A project work was assigned to a group of student for celebration of Ganesh Puja in a

school, which of the following is not related to the project ?

(A) Making decoration and arrangement (B) Collecting fees

(C) Purchasing Puja materials (D) Writing essay on Ganesh Puja

121. (a) Óþœÿ´ç†ÿ ¨•†ÿç{Àÿ ¯ÿçjæœÿ ¨ævÿ¿Lÿ÷þ ¨÷Öë†ÿç $#þú µÿçˆÿçLÿ ¨•†ÿç A{s >

(b) Óþœÿ́ç†ÿ ¨•†ÿç{Àÿ ÷̈Öë†ÿ ¯ÿçjæœÿ ¨ævÿ¿Lÿ÷þ Daÿ ÷̈æ$þçLÿ ÖÀÿÀÿ / {É÷~êÀÿ ¯ÿç’ÿ¿æ$öêZÿ ¨æBô D¨¾ëNÿ A{s >

(c) Óþœÿ´ç†ÿ ¨•†ÿç{Àÿ ¨÷Öë†ÿ ¯ÿçjæœÿ ¨ævÿ¿Lÿ÷þ Daÿ¨÷æ$þçLÿ {É÷~êÀÿ ¯ÿç’ÿ¿æ$öêZÿ ¨æBô D¨¾ëNÿ œëÿ{Üÿô >

(d) ¯ÿçjæœÿ ¯ÿçÌß¯ÿÖëÀÿ ÓþÖ ¯ÿçµÿæSLëÿ {œÿB Óþœÿ´ç†ÿ ¨ævÿ¿Lÿ÷þ ¨÷Öë†ÿç Ó»¯ÿ¨Àÿ œëÿ{Üÿô >

(A) (a) H (b) vÿçLúÿ F¯ÿó (c) H (d) µëÿàúÿ (B) (c) H (d) vÿçLúÿ F¯ÿó (a) H (b) µëÿàúÿ

(C) (a) H (c) vÿçLúÿ F¯ÿó (b) H (d) µëÿàúÿ (D) (b) H (d) vÿçLúÿ F¯ÿó (a) H (c) µëÿàúÿ



ZR – 2A/95 ( 51 )   (Continued)

OTET – P-II
1234567890123456789
1234567890123456789
1234567890123456789
1234567890123456789
1234567890123456789
1234567890123456789

SET – A

(a) Integrated approach of curriculum construction in science is a theme-based approach.

(b) Integrated science curriculum is quite suitable for the learners of upper primary classes.

(c) Integrated science curriculum is not suitable for the learners of upper primary classes.

(d) It is not possible to prepare integrated curriculum taking all branches of science.

(A) (a) and (b) are correct and (c) and (d) are wrong

(B) (c) and (d) are correct and (a) and (b) are wrong

(C) (a) and (c) are correct and (b) and (d) are wrong

(D) (b) and (d) are correct and (a) and (c) are wrong

122. {LÿDôsç Aœÿ¿ †ÿç{œÿæsç vÿæÀëÿ µÿçŸ ?

(A) `íÿœÿ (B) Éþç†ÿ `íÿœÿ

(C) Lÿàÿç̀ íÿœÿ (D) `íÿœÿ ¨$Àÿ

Which one is different from the other three ?

(A) Lime (B) Slaked lime

(C) Quick lime (D) Lime stone

123. {LÿDô {LÿDô ’ÿ¨ö~{Àÿ Óþæœÿ AæLÿæÀÿ H AæLõÿ†ÿç ¯ÿçÉçÎ AæµÿæÓê ¨÷†ÿç¯ÿçº Svÿç†ÿ {ÜÿæB$æF ?

(A) {Lÿ¯ÿÁÿ Óþ†ÿÁÿ ’ÿ¨ö~{Àÿ (B) Dµÿß Óþ†ÿÁÿ H A¯ÿ†ÿÁÿ ’ÿ ö̈~{Àÿ

(C) Dµÿß Óþ†ÿÁÿ H DˆÿÁÿ ’ÿ¨ö~{Àÿ (D) Óþ†ÿÁÿ, A¯ÿ†ÿÁÿ H DˆÿÁÿ-F ÓþÖ ’ÿ ö̈~{Àÿ

In which mirrors virtual image of the same size and shape is formed ?

(A) Only in plane mirror

(B) Both in plane and concave mirrors

(C) Both in plane and convex mirrors

(D) Plane, concave and convex — in all these mirrors

124. üÿÁÿ¨÷’ÿ ¯ÿçjæœÿ Éçäæ’ÿæœÿ H Éçä~ œÿçþçˆÿ :

(a) Aæ¯ÿÉ¿Lÿêß D¨LÿÀÿ~ $#¯ÿæ ¯ÿçjæœÿæSæÀÿ Aæ¯ÿÉ¿Lÿ >

(b) D¨æß¯ÿ;ÿ (¾œ#ÿÉêÁÿ) ÉçäLÿ Aæ¯ÿÉ¿Lÿ >

(c) ÉçäLÿ H ¯ÿç’ÿ¿æ$öê Aœëÿ¨æ†ÿ Lÿþú {Üÿ¯ÿæ Aæ¯ÿÉ¿Lÿ >

(d) ¾{$Î ÓóQ¿Lÿ ÓÜÿæßLÿ ¨ëÖLÿ $#¯ÿæ Aæ¯ÿÉ¿Lÿ >
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D¨{ÀÿæNÿ ¨÷{†ÿ¿LÿÀÿ SëÀëÿ†ÿ´Lëÿ ¯ÿç`ÿæÀÿ LÿÀÿç œÿç{þ§æNÿ þšÀëÿ {LÿDô Lÿ÷þsç vÿçLúÿ ?

(A) abcd (B) bcad

(C) badc (D) acdb

For effective teaching and learning of science :

(a) Well-equipped laboratory is required

(b) Resourceful teachers are required

(c) Low Teacher-pupil ratio is required

(d) A good number of reference books should be available

Considering the importance of each of the above which one of the following sequences is

correct ?

(A) abcd (B) bcad

(C) badc (D) acdb

125. Lÿë¿ ÷̈çLúÿ œÿæB{s÷súÀÿ ’ëÿBsç A~ë{Àÿ {þæs {¾Dô ÓóQ¿Lÿ ¨Àÿþæ~ë Adç, œÿç{þ§æNÿ {LÿDôsç{Àÿ {þæs {ÓÜÿç ÓóQ¿Lÿ

¨Àÿþæ~ë Adç ?

(A) F{þæœÿçßþú Óàúÿ{üÿsúÀÿ {SæsçF A~ë (B) Fàëÿþçœÿçßþú Lÿæ{¯ÿöæ{œÿsúÀÿ {SæsçF A~ë

(C) {Óæxÿçßþú ¯ÿæBLÿæ{¯ÿöæ{œÿsúÀÿ †ÿç{œÿæsç A~ë (D) {¨æsæÓçßþú {Lÿâæ{ÀÿsúÀÿ `ÿæ{Àÿæsç A~ë

Which one of the following contain(s) the same number of total atoms as that in two mol-

ecules of cupric nitrate ?

(A) One molecule of ammonium sulphate

(B) One molecules of aluminium carbonate

(C) Three molecules of sodium bicarbonate

(D) Four molecules of potassium chlorate

126. {SæsçF W{Àÿ ¨÷{†ÿ¿Lÿ 40W Àÿ ’ëÿBsç ¯ÿç’ÿë¿†úÿ ¯ÿàúÿ¯úÿ H ¨÷{†ÿ¿Lÿ 60W Àÿ ’ëÿBsç ¯ÿç’ÿë¿†úÿ ¨\ÿæ ’ÿçœÿLëÿ 5 W+æ

{àÿQæFô FLÿLÿæÁÿêœÿ ¯ÿ¿¯ÿÜõÿ†ÿ {Üÿ{àÿ F¨÷çàúÿ þæÓ{Àÿ {Lÿ{†ÿ ßëœÿçsú ¯ÿç’ÿë¿†úÿ ÉNÿç ¯ÿ¿ßç†ÿ {Üÿ¯ÿ ?

(A) 15 (B) 20 (C) 30 (D) 40

If two electric bulbs of 40W each and two electric fans of 60W each are used simulta-

neously for 5 hours a day, how many units of electrical energy shall be consumed in the

month of April ?

(A) 15 (B) 20 (C) 30 (D) 40
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127. ¯ÿçjæœÿ Óº¤ÿêß Aœëÿšæœÿ {ä†ÿ÷{Àÿ :

(a) œÿç{f àÿç¨ç¯ÿ• LÿÀÿç$#¯ÿæ †ÿ$¿Lëÿ µÿçˆÿç LÿÀÿç Óç•æ;ÿ {œÿB {Üÿ¯ÿ >

(b) œÿçfÀÿ ¯ÿ¤ëÿþæ{œÿ àÿç¨ç¯ÿ• LÿÀÿç$#¯ÿæ †ÿ$¿Lëÿ µÿçˆÿç LÿÀÿç Óç•æ;ÿ {œÿB {Üÿ¯ÿ >

(c) ¯ÿç{ÉÌjþæœÿZÿ ’ÿ´æÀÿæ àÿç¨ç¯ÿ• †ÿ$¿Lëÿ µÿçˆÿçLÿÀÿç Óç•æ;ÿ {œÿB {Üÿ¯ÿ >

œÿç{þ§æNÿ þšÀëÿ {LÿDôsç D`ÿç†ÿ ¨’ÿ{ä¨ {Üÿ¯ÿ ?

(A) {Lÿ¯ÿÁÿ (a) (B) {Lÿ¯ÿÁÿ (c)

(C) Dµÿß (a) H (c) (D) Dµÿß (a) H (b)

In science related studies :

(a) Inference can be drawn from the tabulated data made by self.

(b) Inference can be drawn from the data tabulated by own friends.

(c) Inference can be drawn from the data tabulated by a group of experts.

Which one of the following would be the right step ?

(A) (a) only (B) (c) only

(C) Both (a) and (c) (D) Both (a) and (b)

128. {LÿDôsç vÿçLúÿ œëÿ{Üÿô ?

(A) œÿ¿Îç – Së~Óí†ÿ÷ – fçœúÿ (B) fê¯ÿ{LÿæÌ – { ÷̈æ{sæ â̈æfþú – œÿ¿Îç

(C) fê¯ÿ{LÿæÌ – {LÿæÌlçàÿâê – ÓæB{sæ â̈æfþú (D) fê¯ÿ{LÿæÌ – ÓæB{sæ â̈æfþú – œÿ¿Îç

Which one is not correct ?

(A) Nucleus – Chromosome – Gene (B) Cell – Protoplasm – Nucleus

(C) Cell – Cell membrane – Cytoplasm (D) Cell – Cytoplasm – Nucleus

129. (a) ¨÷†ÿêLÿ, {Lÿ¯ÿÁÿ {þòÁÿçLÿ ¨æBô ¨÷¾ëf¿ >

(b) Óó{Lÿ†ÿ, {Lÿ¯ÿÁÿ {¾òSçLÿ ¨æBô ¨÷¾ëf¿ >

(A) (a) vÿçLúÿ F¯ÿó (b) µëÿàúÿ (B) (b) vÿçLúÿ F¯ÿó (a) µëÿàúÿ

(C) Dµÿß (a) H (b) vÿçLúÿ (D) Dµÿß (a) H (b) µëÿàúÿ

(a) Symbol is applicable to elements only.

(b) Formula is applicable to compounds only.

(A) (a) is correct and(b) is wrong (B) (b) is correct and (a) is wrong

(C) Both (a) and (b) are correct (D) Both (a) and (b) are wrong
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130. {LÿDô þæœÿÀÿ ¯ÿsLÿÀÿæsç {’ÿæLÿæœÿSëÝçLÿ{Àÿ D¨àÿ¯úÿ™ œëÿ{Üÿô ?

(a) 100 S÷æ. (b) 200 S÷æ.

(c) 250 S÷æ. (d) 500 S÷æ.

FÜÿæ FLÿ —

(A) jæœÿµÿçˆÿçLÿ ¨÷É§ (B) {¯ÿæ™µÿç̂ ÿçLÿ ÷̈É§

(C) ÷̈{ßæSµÿç̂ ÿçLÿ ÷̈É§ (D) {LÿòÉÁÿµÿçˆÿçLÿ ¨÷É§

Weight of which denomination is not available in the shops ?

(a) 100 g (b) 200 g

(c) 250 g (d) 500 g

This is a/an :

(A) Knowledge-based question (B) Understanding-based question

(C) Application-based question (D) Skill-based question

131. œÿç{þ§æNÿ {LÿDô {ä†ÿ÷{Àÿ FLÿ µÿçŸ ™Àÿ~Àÿ ¨Àÿç¯ÿˆÿöœÿ W{s ?

(A) fÁÿ{Àÿ `íÿœÿ þçÉæB{àÿ (B) fÁÿ{Àÿ {ÓæÝçßþú {LÿâæÀÿæBxúÿ þçÉæB{àÿ

(C) fÁÿ{Àÿ Wœÿ ÓàúÿüëÿÀÿçLúÿ AþÈ þçÉæB{àÿ (D) fÁÿ{Àÿ Sâ&ë{Lÿæfú þçÉæB{àÿ

In which one of the following cases a different kind of change occurs ?

(A) Adding lime to water

(B) Adding sodium chloride to water

(C) Adding concentrated sulphuric acid to water

(D) Adding glucose to water

132. œÿç{þ§æNÿ {LÿDô {ä†ÿ÷{Àÿ A¯ÿ†ÿÁÿ ’ÿ¨ö~{Àÿ ÓÁÿQ ¨÷†ÿç¯ÿçº Svÿç†ÿ {ÜÿæB$æF ?

{¾{†ÿ{¯ÿ{Áÿ ¯ÿÖë :

(A) C {Àÿ $æF (B) C H F þš{Àÿ $æF

(C) F {Àÿ $æF (D) F H P þš{Àÿ

In which one of the following cases an erect image is formed in a concave mirror ?

When the object is :

(A) At C (B) Between C and F

(C) At F (D) Between F and P
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133. (a) ÷̈†ÿ¿æÉç†ÿ Éçä~ üÿÁÿæüÿÁÿ

(b) ¨÷†ÿ¿æÉç†ÿ Aæ`ÿÀÿ~S†ÿ ¨Àÿç¯ÿˆÿöœÿ

(c) œÿç”}Î Éçäæ’ÿæœÿ àÿä¿

(A) (a) H (b) FLÿæ A{s F¯ÿó (c) µÿçŸ A{s (B) (a), (b) H (c) ¨ÀÿØÀÿ vÿæÀëÿ µÿçŸ

(C) (a), (b) H (c) FLÿæ As;ÿç (D) (a) H (c) FLÿæ A{s F¯ÿó (b) µÿçŸ A{s

(a) Expected Learning Outcomes

(b) Expected Behavioral Changes

(c) Specific Instructional Objectives

(A) (a) and (b) are the same and (c) is different

(B) (a), (b) and (c) are different from each other

(C) (a), (b) and (c) are the same

(D) (a) and (c) are the same and (b) is different

134. {LÿDôsç Aœÿ¿ †ÿç{œÿæsç vÿæÀëÿ µÿçŸ ?

(A) àÿæÁÿ S÷¡ÿç (B) ç̈së¿sæÀÿç S÷¡ÿç

(C) {Ó´’ÿ S÷¡ÿç (D) {†ÿðÁÿ S÷¡ÿç

Which one is different from the other three ?

(A) Salivary gland (B) Pituitary gland

(C) Sweat gland (D) Oil gland

135. ÀÿæÓæßœÿçLÿ ÓþêLÿÀÿ~ SëÝçLÿ{Àÿ œÿçþ§þëQê †ÿêÀÿ `ÿçÜÿ§ F¯ÿó D–ÿöþëQê †ÿêÀÿ `ÿçÜÿ§ :

(a) {Lÿ¯ÿÁÿ ¨÷†ÿçLÿæÀÿLÿSëÝçLÿÀÿ LÿÝ{Àÿ {àÿQæ¾æF >

(b) {Lÿ¯ÿÁÿ D¨#æ’ÿSëÝçLÿÀÿ LÿÝ{Àÿ {àÿQæ¾æF >

(c) Dµÿß ¨÷†ÿçLÿæÀÿLÿ H D¨#æ’ÿSëÝçLÿÀÿ LÿÝ{Àÿ {àÿQæ¾æF >

(A) (a) vÿçLúÿ F¯ÿó (b) H (c) µëÿàúÿ (B) (b) vÿçLúÿ F¯ÿó (a) H (c) µëÿàúÿ

(C) (c) vÿçLúÿ F¯ÿó (a) H (b) µëÿàúÿ (D) D¨{ÀÿæNÿ (a), (b) H (c) µÿÁÿç {Lÿò~Óç œÿçßþ œÿæÜÿ]
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In chemical equations downward arrow and upward arrow are written :

(a) By the sides of the reactants only

(b) By the sides of the products only

(c) By the sides of both the reactants and products

(A) (a) is correct and (b) and (c) are wrong

(B) (b) is correct and (a) and (c) are wrong

(C) (c) is correct and (a) and (b) are wrong

(D) There are no rules as stated in (a), (b) and (c) above

136. (a) Svÿœÿäþ (Svÿœÿæþ#Lÿ) þíàÿ¿æßœÿ Éçäæ’ÿæœÿÀÿ ’ëÿ¯ÿöÁÿ ¯ÿç¢ëÿSëÝçLëÿ `ÿçÜÿ§s LÿÀÿç$æF >

(b) Svÿœÿäþ þíàÿ¿æßœÿ Éçä~Àÿ ’ëÿ¯ÿöÁÿ ̄ ÿç¢ëÿSëÝçLëÿ ̀ ÿçÜÿ§s LÿÀÿç$æF >

(c) Svÿœÿäþ þíàÿ¿æßœÿ ’ÿ´æÀÿæ ÓþßÀÿ A¾$æ A¨`ÿß {ÜÿæB$æF >

(d) ÓæþS÷çLÿ þíàÿ¿æßœÿ ¯ÿ¿¯ÿ×æ $#¯ÿæ {¯ÿ{Áÿ Svÿœÿäþ þíàÿ¿æßœÿÀÿ {Lÿò~Óç Aæ¯ÿÉ¿Lÿ†ÿæ œÿæÜÿ] >

(A) (a) H (b) vÿçLúÿ F¯ÿó (c) H (d) µëÿàúÿ (B) (c) H (d) vÿçLúÿ F¯ÿó (a) H (b) µëÿàúÿ

(C) (d) vÿçLúÿ F¯ÿó (a), (b) H (c) µëÿàúÿ (D) (b) vÿçLúÿ F¯ÿó (a), (c) H (d) µëÿàúÿ

(a) Formative evaluation diagnoses the weak spots of teaching.

(b) Formative evaluation diagnoses the weak spots of learning.

(c) Time is unnecessarily wasted by formative evaluation.

(d) There is no need of formative evaluation when there is provision for summative evaluation.

(A) (a) and (b) is correct and (c) and (d) are wrong

(B) (c) and (d) is correct and (a) and (b) are wrong

(C) (d) is correct and (a), (b) and (c) are wrong

(D) (b) is correct and (a), (c) and (d) are wrong

137. {SæsçF þsÀÿLÿæÀúÿÀÿ ̈ ÷æÀÿ»çLÿ ̈ Àÿç{¯ÿS 25 ms–1 $#àÿæ > {¯ÿ÷Lúÿ ̈ ÷{ßæS LÿÀÿç̄ ÿæÀëÿ LÿæÀúÿsç 2 {Ó{Lÿƒú{Àÿ ×çÀÿæ¯ÿ×æLëÿ

AæÓçàÿæ > LÿæÀúÿsçÀÿ †ÿ´Àÿ~ {Lÿ{†ÿ $#àÿæ ?

(A) 12.5 ms–2 (B) – 12.5 ms–2

(C) 25 ms–2 (D) – 25 ms–2
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The initial velocity of a motor car was 25 ms–1 . On applying brake it came to rest in 2

seconds. What was the acceleration of the car ?

(A) 12.5 ms–2 (B) – 12.5 ms–2

(C) 25 ms–2 (D) – 25 ms–2

138. XY2 FLÿ {¾òSçLÿÀÿ Óó{Lÿ†ÿ A{s, {¾Dô$#{Àÿ X FLÿ ™æ†ÿë F¯ÿó Y FLÿ A™æ†ëÿ A{s > Y H X Àÿ {¾æf¿†ÿæ

¾$æLÿ÷{þ :

(a) 1 H 2 {ÜÿæB¨æ{Àÿ (b) 2 H 1 {ÜÿæB¨æ{Àÿ

(c) 3 H 6 {ÜÿæB¨æ{Àÿ (d) 4 H 2 {ÜÿæB¨æ{Àÿ

(A) (a) H (c) vÿçLúÿ F¯ÿó (b) H (d) µëÿàúÿ (B) (b) H (d) vÿçLúÿ F¯ÿó (a) H (c) µëÿàúÿ

(C) (a) vÿçLúÿ F¯ÿó (b), (c) H (d) µëÿàúÿ (D) (b) vÿçLúÿ F¯ÿó (a), (c) H (d) µëÿàúÿ

XY2 is the formula of a compound in which X is a metal and Y is a non-metal. The valencies

of Y and X respectively may be :

(a) 1 and 2 (b) 2 and 1

(c) 3 and 6 (d) 4 and 2

(A) (a) and (c) are correct and (b) and (d) are wrong

(B) (b) and (d) are correct and (a) and (c) are wrong

(C) (a) is correct and (b), (c) and (d) are wrong

(D) (b) is correct and (a), (c) and (d) are wrong

139. {LÿDô ¨•†ÿç{Àÿ ¯ÿç’ÿ¿æ$öêLëÿ œíÿ†ÿœÿ jæœÿ Aæ¯ÿçÍæÀÿ H Svÿœÿ LÿÀÿç¯ÿæ ¨æBô A™#Lÿ Óë{¾æS D¨àÿ¯úÿ™ {ÜÿæB$æF ?

(A) { ÷̈æ{fLúÿsú ¨•†ÿç (B) ÓþÓ¿æ Óþæ™æœÿþíÁÿLÿ ¨•†ÿç

(C) ¯ÿçjæœÿæSæÀÿ ¨•†ÿç (D) ÷̈’ÿÉöœÿ ¨•†ÿç

In which method ample opportunities are available to the learner to discover and construct

new knowledge :

(A) Project method (B) Problem solving method

(C) Laboratory method (D) Demostration method

140. {ÀÿæSÀÿ LÿæÀÿLÿLëÿ µÿçˆÿç LÿÀÿç {LÿDôsç Aœÿ¿ †ÿç{œÿæsç vÿæÀëÿ µÿçŸ ?

(A) {¨æàÿçH (B) AæþæÉß

(C) ÜÿæÝüëÿsç (D) {Üÿ¨æsæBsçÓú-B



ZR – 2A/95 ( 58 )   (Continued)

OTET – P-II
1234567890123456789
1234567890123456789
1234567890123456789
1234567890123456789
1234567890123456789
1234567890123456789

SET – A
Basing on the causative factor of the disease which one is different from the other three ?

(A) Polio (B) Dysentery

(C) Chicken pox (D) Hepatitis-B

141. {LÿDôsçÀÿ FLÿLÿ Aœÿ¿ †ÿç{œÿæsçÀÿ FLÿLÿ vÿæÀëÿ µÿçŸ ?

(A) `ÿæ¨ (B) ¯ÿÁÿ

(C) ÓóWæ†ÿ (D) ¨â¯ÿ†ÿæ

The unit of which one is different from that of the other three ?

(A) Pressure (B) Force

(C) Thrust (D) Buoyancy

142. ¯ÿçjæœÿ þ†ÿ Aœëÿ¾æßê œÿçÀÿæ¨’ÿ ¨æœÿêß fÁÿ ¨æB¯ÿæ ¨æBô œÿç{þ§æNÿ þšÀëÿ {LÿDô ¨•†ÿçsç DL#&õÎ†ÿÀÿ ?

(a) fÁÿLëÿ üëÿsæB ÓæÀÿç dæ~ç¯ÿæ

(b) fÁÿLëÿ dæ~ç ÓæÀÿç üëÿsæB¯ÿæ

(c) fÁÿLëÿ dæ~ç ÓæÀÿç üëÿsæB¯ÿæ ¨{Àÿ ¨ë~ç dæ~ç¯ÿæ

(d) fÁÿ{Àÿ {LÿâæÀÿçœúÿ ¯ÿsçLÿæ ¨LÿæB ¨çB¨æÀÿç¯ÿ

FÜÿæ FLÿ :

(A) jæœÿµÿçˆÿçLÿ ¨÷É§ (B) {¯ÿæ™µÿç̂ ÿçLÿ ÷̈É§

(C) ÷̈{ßæSµÿç̂ ÿçLÿ ÷̈É§ (D) {LÿòÉÁÿµÿçˆÿçLÿ ¨÷É§

According to science, which one of the following method is better to make water safe for

drinking ?

(a) Filter the water after boiling

(b) Boil the water after filtering

(c) Filter, then boil and again filter the water

(d) One can drink after putting chorine tablet in water

This is a/an :

(A) Knowledge-based question

(B) Understanding-based question

(C) Application-based question

(D) Skill-based question
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143. Ó¯ÿÁÿäæÀÿ H ’ëÿ¯ÿöÁÿ AþÈÀÿ {¾æÝæ {LÿDôsç ?

(A) NaOH and HCl (B) KOH and H2SO4

(C) NH4OH and H2CO3 (D) Ca(OH)2 and H2SO3

Which one is the pair of strong base and weak acid ?

(A) NaOH and HCl (B) KOH and H2SO4

(C) NH4OH and H2CO3 (D) Ca(OH)2 and H2SO3

144. †ÿ{Áÿ ’ÿçAæ¾æB$#¯ÿæ ¨Àÿç¨${Àÿ A H B ¯ÿç¢ëÿ þš{Àÿ ÓþíÜÿ (¨Àÿç~æþê) ¨÷†ÿç{Àÿæ™ {Lÿ{†ÿ {Üÿ¯ÿ ?

(A)
1
6

 Hþú (B)
5
6

 Hþú

(C) 2 Hþú (D) 3 Hþú

What will be the equivalent resistance between the points A and B in the circuit given

below ?

(A)
1
6

 Ohm (B)
5
6

 Ohm (C) 2 Ohm (D) 3 Ohm
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145. µÿæÀÿ†ÿÀÿ Óæ™æÀÿ~ ¯ÿç’ÿ¿æÁÿßSëÝçLÿÀÿ Daÿ ¨÷æ$þçLÿ {É÷~êSëÝçLÿ{Àÿ ¯ÿçjæœÿ Éçäæ’ÿæœÿ œÿçþçˆÿ œÿç{þ§æNÿ þšÀëÿ {LÿDô

Éçäæ’ÿæœÿ ¨•†ÿçsç ¯ÿæpœÿêß ?

(A) ¯ÿçjæœÿæSæÀÿ ¨•†ÿç (B) ÷̈’ÿÉöœÿ ¨•†ÿç

(C) { ÷̈æ{fLúÿsú ¨•†ÿç (D) ÓþÓ¿æ Óþæ™æœÿþíÁÿLÿ ¨•†ÿç

Which one of the following methods is desirable for teaching science in the  upper primary

classes of the general schools in India ?

(A) Laboratory Method (B) Demonstration Method

(C) Project Method (D) Problem solving Method

146. {LÿDôSëÝçLÿ µÿçŸ {É÷~ê µëÿNÿ ?

(A) ë̄ÿ™, ÉëLÿ÷, ṏ$#̄ ÿê, þèÿÁÿ (B) S¿æÓú fçAæ+úÓþíÜÿ

(C) A;ÿ… S÷Üÿ ÓþíÜÿ (D) ¨æ$#ȫ ÿS÷Üÿ ÓþíÜÿ

Which group belongs to a different class ?

(A) Mercury, venus, Earth, Mars (B) Gas giants

(C) Inner Planets (D) Terrestrial planets

147. ¨æÉ´ö ¯ÿç×æ¨œÿÀÿ þæ†ÿ÷æ :

(A) {Lÿ¯ÿÁÿ Aæ¨†ÿœÿ {Lÿæ~ D¨{Àÿ œÿçµÿöÀÿ ÉêÁÿ

(B) {Lÿ¯ÿÁÿ þæšþSëÝçLÿÀÿ ¨÷Lõÿ†ÿç D¨{Àÿ œÿçµÿöÀÿÉêÁÿ

(C) Dµÿß Aæ¨†ÿœÿ {Lÿæ~ F¯ÿó þæšþSëÝçLÿÀÿ ¨÷Lõÿ†ÿç D¨{Àÿ œÿçµÿöÀÿÉêÁÿ

(D) D¨{ÀÿæNÿ {Lÿò~Óçsç D¨{Àÿ œÿçµÿöÀÿÉêÁÿ œëÿ{Üÿô

The degree of lateral displacement :

(A) Is dependent only on the angle of incidence

(B) Is dependent only on the natures of the media

(C) Is dependent on both the angle of incidence and the natures of the media

(D) Is not dependent on any of the above
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148. (a) Lÿ¨Ýæ {’ÿæLÿæœÿSëÝçLÿ{Àÿ þçsÀúÿ H {Ó. þç. FLÿLÿ ¯ÿ¿¯ÿÜõÿ†ÿ ÜëÿF >

(b) `ÿæDÁÿ, SÜÿþ, `ÿçœÿç Aæ’ÿç ¨æBLÿæÀÿê {’ÿæLÿæœÿSëÝçLÿ{Àÿ Lÿ´ç+æàúÿ H Lÿç. S÷æ. FLÿLÿ ¯ÿ¿¯ÿÜõÿ†ÿ ÜëÿF >

(c) Óëœÿæ, Àíÿ¨æ Aæ’ÿçÀÿ AÁÿZÿæÀÿ {’ÿæLÿæœÿ SëÝçLÿ{Àÿ S÷æþú H þç. S÷æ. FLÿLÿ ¯ÿ¿¯ÿÜõÿ†ÿ ÜëÿF >

(d) Që`ëÿÀÿæ ÓD’ÿæ H ¨Àÿç¯ÿæ {’ÿæLÿæœÿSëÝçLÿ{Àÿ Lÿç. S÷æ. H S÷æþú FLÿLÿ ¯ÿ¿¯ÿÜõÿ†ÿ ÜëÿF >

FÜÿç ’õÿÎæ;ÿSëÝçLÿ {LÿDô {É÷~êµëÿNÿ ?

(A) jæœÿµÿçˆÿçLÿ (B) {¯ÿæ™µÿç̂ ÿçLÿ

(C) ¨÷{ßæSµÿçˆÿçLÿ (D) {LÿòÉÁÿµÿç̂ ÿçLÿ

(a) Units of metre and cm are being used in the cloth shops.

(b) Units of quintal and kg are being used in the whole sellers’ shops of rice, wheat,

sugar etc.

(c) Units of gram and m.g. are being used in the shops of ornaments of gold, silver etc.

(d) Units of kg and gram are being used in the retailers shops of grocery and vetegables.

All these illustrations belong to which category ?

(A) Knowledge-based

(B) Understanding-based

(C) Application-based

(D) Skill-based

149. {LÿDôsç Aœÿ¿ †ÿç{œÿæsç vÿæÀëÿ µÿçŸ {É÷~êµëÿNÿ ?

(A) Fþç̄ ÿæ (B) ¨âæÓú{þæxÿçßþú

(C) ¨æÀÿæþçÓçßþú (D) {¨œúÿÓçàÿçßþú

Which one belongs to a different class from the other three ?

(A) Amoeba (B) Plasmodium

(C) Paramecium (D) Penicillium

150. œÿç{þ§æNÿ LÿæÜÿæ{¾æSëô FxúÿÓú ÜëÿF ?

(A) ¯ÿ¿æ{LÿuÀÿçAæ (B) µíÿ†ÿæ~ë (C) fê¯ÿæ~ë (D) Aæ’ÿç¨÷æ~ê

From which one of the following AIDS is caused ?

(A) Bacteria (B) Virus (C) Worm (D) Protozoa


